Outline of GDP Notes
Gross Domestic Product is the market value of all final goods and services produced within a given country in a given time period.

Real versus Nominal GDP

Why use real GDP to measure economic activity?

Imagine a world with only 2 goods
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It appears that since nominal GDP rose from 1100 to 1200 that the economy performed better in 2013 but the increase was due to a price increase not an increase in the production of goods. When prices are held constant there is a different story.
Use 2012 prices to compare output in 2012 to output in 2013.
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 600

From 2012 to 2013 two things changed P and Q; price indices hold P constant so we can evaluate changes in Q.



           price of all goods and services
use 2010 goods and services
Price Index =
                  in a given year


     2011 prices               



           prices of the same goods in 
            use 2010 good and services
 


       the base year


      2010 prices

GDP deflator = nominal GDPt/ real GDPt
The overall price level measure.
The Business Cycle – the change in real GDP over time (the goal is for GDP to grow by 3 percent)


Expansions 


Growth Recessions


Recessions

business cycle ≈ alternating periods of economic growth and contraction
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Recession ≈ growth of < 0% for 2 consecutive quarters 

Growth recession
0 < growth < 3

Expansion period
growth > 3
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In 2008 and the first two quarters of 2009, it is clear for the graph that the economy is in a recession. 
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The US economy has been growing at a slow pace for the past ten quarters.




Purpose for measuring the GDP


Comparisons over time how do we compare to previous generations
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The other day I came across a survey reporting that the average American man owns 12 pairs of shoes, while the average American woman owns a whopping 27 pairs. That would make the national average about 19 pairs per person. Wow! Really?

http://www.census.gov/const/C25Ann/sftotalmedavgsqft.pdf The average house size since 1973 from 1525 to 2169 square feet. The average American house size has more than doubled since the 1950s, despite the fact that the average family size has steadily dropped. In the 1950s, the average house measured about 1,000 square feet (about 90 square meters) and housed three or four people. Since then, the average house size has grown to about 2,500 square feet (about 230 square meters), and the average house is home to two or three people. 

http://www.upi.com/Health_News/2011/09/19/Americans-eat-out-about-5-times-a-week/UPI-54241316490172/ the average American eats out 5 days a week.

Comparisons across countries how do we currently compare to other countries

GDP per capita

Purchasing Power Parity
http://www.measuringworth.org/datasets/usgdp/result.php
http://www.indexmundi.com/g/r.aspx?c=mr&v=67
Measuring GDP


Expenditure Approach



C+I+G+X-M = GDP open economy



C+I+G = GDP    closed economy


Survey of Current Business page D-11 Table 1.5.6

http://www.bea.gov/scb/index.htm
Consumption

Investment

Government Spending 

Trade (Exports – Imports)


Trade Deficit, Trade Surplus, Balance of Trade

Balancing the Budget (Government Spending – Tax Revenue) 


Government Budget Deficit, Government Budget Surplus, Balanced Budget

Income Approach



C+S+T+f = GDP open economy



C+S+T = GDP    closed economy
Measurement Problems


Non-market activities


Inventories


Illegal activities


Double Counting


International Measurement dealing with Multinational Firms
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Table 1.1.6. Real Gross Domestic Product, Chained Dollars
[Bilions of chained (2009) doliars]
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‘Seasonally adjusted at annual rates
Line 2011 2012 2012 2013
n w 1 ] n
1| aorat|  a2se2|  a2m85  43203| 45473
Current tax receipts. 2 2,862.4 30412 3,0395 3,0082 3,164.4

Personal current 3 1,404.0 1,498.0 1,494 1,552.8 1,629.0 . ,659.

Taxes on production and imports. 4 1,097.1 1,122.9 11188 1,126.3 1,140.7 1,1388 1,1440

Taxes on corporate incom 5 3450 4024 407.2 3992 3754 .

Taxes from the rest of the world 6 16.3 17.8 17.1 199 192 19.4 19.8
Contributions for government social insurance. 7 9226 955.3 952.0 9726 1,09.0 1,105.6 1,1106
Income receipts on assets 8 1374 1314 130.5 1326 154.3 3806 175.2

Interest and miscellaneot 9 1164 1079 107.0 109.3 1105 11.7 1135

Dividends 10 21.0 234 235 233 438 2689 61.7
Current transfer receipts.. 11 1754 159.1 155.0 1487 165.1 X

From business (net) 12 90.1 706 66.2 59.7 757

From persons. 13 83 885 8838 89.0 894
Current surplus of government enterprises.. 14 238 217 -285 -318 -355

Current expenditures. 15|  55%4| se216| 56279  56530| 56304
Consumption expenditures: 16 2,526.1 25480 25729 2,538.1 2,525.3
Current transfer payments. 17 2,3339 23847 23942 2,406.9 2,448.1

Government social benefits. 18 22774 23348 23419 2,366.1 2,400.4

. 19 2,260.3 23168 23238 2,3479 2,382.0
.. 20 171 18.0 18.1 181 184

Other current transfer payments to the rest of the world (net) 21 565 499 523 409 476
Interest payments... 22 6155 631.6 604.8 650.2 598.8

To persons and business. 23 5180 5386 5121 557.8 505.2

To the rest of the worl 24 975 93.0 97 924 936
Subsidies. 25 60.0 57.3 56.0 577 580

Net government saving .. 5| -14613| -13623| -13794| -13327| -1,0829
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Proprietors' income with inventory valuation and capital consumption adjustment 9| 11551 12249 1, m 0 12475 1,346 13415 13582
10 726 754 745 137.0 1200 1315
11| 10826| 11496 ||u7 11780 11976 12125| 12267
12 4844 5412 5467 5554 5749 5877 6002
13| 18846| 19s85| 19269| 20628| 19358| 19940 20281
14| 12041| 12116| 12037| 12184| 12158| 12256 12818
15 6805 746.9 7232 8443 7200 7684 7963
Personal current transfer receipts. 16| 23069| 23583| 23644| 23880| 24260| 24309 24576
‘Government social benefits to persor 17| 22603| 23168| 23238| 23479| 23820| 23865 24127
Social security 2. 18 7133 762.2 764.8 7702 7898 7949 8026
Medicare 3 . 19 537.0 560.8 564.0 5772 5893 5863 5965
Medicaid. 20 4055 4171 4215 4251 4237 4261 4379
Unemployment insurance 21 107.6 842 787 753 739 685 622
Veterans' benefits. 2 633 702 713 733 768 80.0 81.6
Other.. 2 4337 4225 4235 4268 4286 4308 4319
Other current transfer receipts, from business (nef) 24 467 414] 406 401 440 444 449
Less: Contributions for government social insurance, domestic. 2 9182 950.7 0474 979 10037 11003 11053
Less: Personal current taxes 26| 14040| 14980( 14964 15528 16200 1,6648| 16505
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Personal consumption expenditur 29| 107118 111496 111936 112855 11,3792 114271 11 5254

Personal interest payments .. 0 2480 2484 250.7 2473 2504 2143
Personal current transfer payments 31 159.4 160.4 156.7 1634 165.3 165.6 1666
To government 2 853 85 888 890 894 899 907
To the rest of the world (net) 3 741 718 67.9 744 759 757 749
Equals: Personal saving 7 668.2 687.4 604.1 8241 5020 5632 5922
Personal saving as a percentage of disposable personal income. 3% 57 56 49 66 a1 45 47





Trade notes 







Dr. Pantuosco

Trade 

Exports versus Imports
Exports are goods and services produced domestically and sold internationally

Imports are goods and services produced abroad and sold domestically

Balance of Trade - when exports = imports 

Trade deficit – when imports exceed exports

Trade surplus – when exports exceed imports

Is it better to import or export?

Current Trade Issues


Pros and Cons of trade

Imports per person
What factors affect trade?

The value of the dollar

If the dollar is strong, American dollars can buy more foreign goods, foreign currencies can not buy as much American goods. Therefore, if the value of the dollar increases imports rise and exports fall. What happens to GDP? Holding everything else constant, it falls.

If the value of the dollar is weak, exports, American dollars buy less foreign goods and services – imports drop. Foreign currencies increase in value, providing foreigners with the ability to purchase more American made goods –exports rise. Holding everything else constant, GDP rises.

What factors affect the value of the dollar? Demand and supply of dollars.

The GDP of other countries.

If a country’s income (GDP) rises, their demand for all goods, including foreign goods will rise. Or if a countries income (GDP) falls their demand for all goods will fall.

Relative GPD changes make a difference. If the US GDP is rising by more than one Canada’s GDP then Canadians will not spend as much on US goods, as US will spend on Canadian goods.

Trade Agreements

Governments can manipulate the amount of trade between countries by implementing trade policies. Free trade increases imports and exports.

Overall affect of trade on prices, wages, GDP, and productivity.
GENERAL INFORMATION

If exports increase, holding imports constant, GDP will rise.

If imports increase, holding exports constant, GDP will fall.

X increases and M increases, the change in GDP is uncertain

Principles of Macroeconomics

Outline and Assignment 

Unemployment and Employment
Calculating the unemployment rate

CNIP = civilian non-institutionalized population

CNIP = Population - military - institutionalized - under 16 years old

CNIP = employed + unemployed + out of the labor force

LF (labor force) = employed + unemployed

Unemployment Rate = unemployed / labor force

To be unemployed one must be (1) not working

 



   (2) able to work

   (3) in the CNIP

   (4) actively seeking employment.

1. What are some of the social problems of unemployment?

How does being unemployed effect individuals?

How does being unemployed effect society?

2. How have some of the recent trends effected the labor market?

The decline of unions

Changes in the minimum wage

Reductions in welfare benefits

Less Generous unemployment insurance 

3. Who demands labor?

4. Who supplies labor?

5. What are the types of unemployment? Briefly explain the below types.

Frictional


Seasonal 

Cyclical

Structural

6. What are the measurement problems with unemployment? Briefly explain why the items listed below cause measurement problems for the unemployment rate.

Part-time workers 

Moonlighters

Underemployed

Liars

Discouraged Workers

7. What is the labor force participation rate?

8. What are the recent trends in labor force participation?

9. What factors cause unemployment rates to change?

10. How is the unemployment rates calculated?

If population = 1400

Institutionalized = 75

Employed = 800

Out of the labor force = 200

Military = 100

Under 16 = 50

a. What is the unemployment rate?

b. What is the labor force participation rate?

Assignment: These two pages serve as a general outline for the unemployment section of this course. There are a number of questions asked in this section (9 to be exact) that you are expected to answer. On a separate sheet type the questions and your answers to those questions. Written answers will not be accepted. After this assignment is turned in grade and returned, it will serve as an organized study guide for your upcoming exam.

